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Math 1A Final (Practice 1)

This exam consists of 10 questions. Answer the questions in the
spaces provided.

1. Calculate the following (you do not need to use the limit definition):
(a) (10 points)

d
e In(3z)e*

Solution:

d t X' i < 't C .2 T
7; fu(.?st.)e. = ™ e + «(3x) €

(b) (15 points)

d T
e tan(e®"))

Solution:

Flxl= x o Au(Flx)) = 2 tuln) rj—,—“(u () =1lutn) + )

= A3'(x = x&((u(z)-(-!)

- ® % ﬂ)
D R (e%) = sect (7)€ 2t (utiey)
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2. Calculate the following (you do not need to use the (e, §)-definition):
(a) (10 points)
sin(z?)

(Gospibed 0 N7

Solution:
it (x'-) L/ 7. x <25 (x™) i‘-:;o 2% cos ()
é IO“I — é ;M o =
2K<>o0 fonln) N-DO sec+(x) Cim  gec™n)
X0
- o
— C— - Q

(b) (15 points)

T——00 2—|—$3
—\}7(-«- Qa=® )
-" (3 ( x>
Lim (+U= e ULiw

Solution:

RD—o Zex® ey~ L?.—(--a})
(—\}—(-(- Qo ® ) e? -
¢
. . - Ve + U
= Liwm - il —\fx‘
”w=> ~*% 2 —
23 + | D= = '
x> *
-
= = -2
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3. Calculate the following (you do not need to use Riemann sum defintion):
(a) (10 points)
/ 20 +4
dz
2?2 +1
Solution:

2=+l 2= «“
—— dx = — oA ¢ 0 Jd=
2% ¢ 2" ¢ | 2% 4

du Y X% .
= xTa] = Ou _ —_— = | — du
(7 x| =) = = 2% =) oix = = (5-;‘--&1 o = -

= ul+C = ‘1-4[9&"~+||+C.

b4l
(b) (15 points)

=) Jzuq-q Adx = ’(k|‘x"+|| + Qarvetomly +

Solution:

|
w=dalx) = 24 = — D dx = =du

ARn
= j ' Ax = j_'__ du = ulul « C
7(.‘(.&(‘3) W
= u|tul)| +C
et
-) i
) dx = Aul(z) —tur) = {wl2)
2ctuln)
3
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4. (25 points) A cup of water is placed in a refrigerator. The refrigerator has temperature
5C. After 10 minutes the water is 15C. After 20 minutes the water is 10C. Determine

the temperature of the water when it was placed in the refrigerator.

Solution:
Fnibiad Loy eafure

e e

Neec = T+) = Ts + (Te=-T ) e

1ok
TCe) = (5§ = IS = S + CTe~- 5] e

20 &

TCea)= 10 = (o

Ta— S To-S
e
= e > ) 20 = T, S
= - — o -
(To-5)™ (e -s)
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5. (25 points) Sketch the following curve. Be sure to indicate asymptotes, local maxima
and minima and concavity. Show your working on this page and draw the graph on the

next page.
x2e”
y _—
T

Solution:

*x -

xte™ e = w0
$Cn) = _ )
*® INTS =2 =0

S'év(’b‘\ 3 = ’ggx andl remove CQIO)

Doman : ([R
Aeitlan

Ootol /Evan

Veoti cod ,i—sl...,.bm : NMNone

Lim :ce& —_ o
n =) *o
]
x -—
‘l.m xe’z - Lim = L‘om _-a. - 0

=) y=o0 hovizowtad asJu-’b’"& as X —3 — o8
F chhat —l = loccd wmin
4(x) = e*% xe = Clerx)e™

/ .
A7 2/Cr) =0 & =% =-I B Z g (»n)

/}/ Nouo —1
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Solution (continued) :

F oy k-2
1(=) = &* . (1+x) e* _ Cz+=%) & = fnFlusbon
A, 3"(»)=0 & ==-2 — _z/ -+ F"x)
Y Mome |
H-1) = -

H(-2) =—2
_;.,{0_ Fe
R

(-",-e.")

PLEASE TURN OVER
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6. (25 points) Determine the equation of the tangent line at z = 1 of the following curve:

3x
Y = / cos(mt)dt + 2x
Solution:
In 2

.ﬁ = IJ cos CE) AL - j Cos CT€) At + 2

(-]
o
= M o R s (3T - (TR +2
Al
=> j-l = Beos(3M) — ensCw) +2
AR
xX=|

= =3 — (-1l = O

3

5 Cos CTM) oA+ +2 = —',“:S‘m C‘Tl‘-k)lz + T = O+t
]

]

=) Tayw b  bos Spuokeon y=2
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7. (25 points) An open box will be made by cutting a square from each corner of a 3 by 8
foot piece of cardboard and then folding up the sides. What size squares should be cut

from each corner to maximize the volume.

Solution:

ob J‘m s Mosamize Volume

3
QbLojetrve @ Volume = - (-2
N ’* g -6-2e)
3 Cousbonk ¢ Zz.-hb = &8
1 (C = J =g -2a

= Ve = (8-2x) x (3-2.) = +Ua® _ezx"eo,
= Hw
Dowosn Ccl%]

= Gx-2)(x-3)

o s g"/.
—t—
$Co) =6 Volume 3 asosdmized wrlen

{’(3/&]7‘0 = 1'32—(3 (S, ;MO‘M)
H) >o
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8. (25 points) A company accrues debt at a rate of
(2t +3)VE+1

dollars per year, where t is the time in years since the company started. How much will
the company’s debt have grown between ¢t = 3 and ¢t = 87 You do not need to simplify

your answer.

Solution:

PeE) = @+3) Ty

= 'Y
w= gE&+1 = prye = 1

(> = u-1)

= j(zeﬂ)‘y’e':c_ d& = Jt&-&-—t&)'f:o(u.

= d& = Aw

Jecnamy vz aw = Jolhodman

s/. 3 ke
= 2 =W 2 M = en™a s
g
= . Y% % e
¢+t de= = () - .'%'-L-e-c-u) /}
s 4 % =
= ('%3 1_%5‘5 —LTZ"'BZ

PLEASE TURN OVER



Math 1A Final (Practice 1), Page 10 of 11

9. (25 points) Calculate the following limit:

n

6n + 3i i
dim ) = sl 00

Solution:
. ] ) 2
u Sin ((L-rf]l) = 3-(tad) sin(lTaz)) - -U‘—\.
W
(A a=2 ,b=3 oud ) = e sinl)
W \ >
= Ll 2 ﬁ Sin ((L-l-T':;]l) = j3"53‘4-b¢—1')o‘.x
hDes = wt
=
n = 9&’_ = d\\ - s _ olw
) A2 - z',t -) d,. = 2. Rr

= j‘st’uuL-»’-)el'& = %J siu(n] dw 3‘%“"‘“’*(-

= -3
— S95Cx™) 4

=)

" ¢ , —_ 3
Cim = SHt3 ((t+E]Y) = = C"btﬂ""‘
hdeo ,= w <z

]

= (cosCly)—cas (9))
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10. Let f(z) = 1/z and g(z) = 4z h(z) = x.

(a) (10 points) Calculate the area of the finite region bounded by y = f(z), y = g(zx)
and y = h(z).
)

"
=

AVC‘\ = (J‘-N‘—"“" + -l,-g—u Ax
o

Solution:

Y
K3

2
4+ Auloel — -3_2_:&1" | ‘
Q

.

=5 ¢ (CL) - (- &)

]
~
3

£

(b) (15 points) Calculate the volume of the solid of revolution formed by rotating this
region around the z-axis.

Solution:
Yo '
Volum< = 4‘)’5 (L‘x)'l-_x?. A _,_-n-j -;T,‘_ — 2t dAx
% “
3 b -1 v L3 l
= S'Trae ‘ -4 T (—{—-; )l
o Y“
- > B U t
— W ((- -2 e — — )
s (& ) - (-=-Zq

END OF EXAM



